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CPF-226%7

M.Com. (Final) Examination, 2022

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMNT

Paper - X

(Quantitative Techniques for Decision-Making)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

2 marks.

(@us—3) (3® : 2 x 10 = 20)
Toff 9| U & W T (SW-HT 50 IE) | FAF YA 2 S H T

Section-B (Marks : 8 x 5 = 40)
Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tus-a) (3T : 8 x 5 = 40)
I § § sl ure Tl & S AT (SW-HE 200 ) | TOF A 8 &

E
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Note —

(i)

(iii)

(iv)

v)

(vi)

(vii)

Section—C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each

question carries 20 marks.

(Tus-7) (31 : 20 x 2 = 40)

=R H G fH=i 3 ygHl & S SIfST (STW-HE 500 I5) | T&® 9T 20 37
Tl

Section—-A
(Tue-3)
What do you mean by Permutation ?
FAEE 9§ N ARE ¥ ?
When should the rank differences method be used ?
Fife TR AT o1 7@ w9 foman S g 2
Define Time-series.
-0 1 AR i |

Give the meaning of Short-time Oscillations.

SIS Seare= 1 37 FaET |

What is Multiple Regression ?

RN T = ¥ ?

What is Lottery method of Sampling ?

free =t afed gomedt # ¥ ?

Write any two differences between Interpolation and Extrapolation.

AUOH TS ARAOH H i af 3T TdEu|

(viil)) State any rwo limitations of Index Numbers.

YR H HIE & AT TR |
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(ix) What is the meaning of deflation of Index Numbers ?

AR BT STIERIA T F W § 7
(x)  Write any rwo uses of probability theory.
iRl fagTa & ®E § ST A
Section-B
(TUs-9)

2. Write a note on application of various quantitative techniques in different fields

of business decision-making.
fafy= afmmomeaes gfafei & sgeEfas fHoem & fafy= & § ST sdEu|

3.  From 7 Indians and 4 Japanese, a committee of 5 is to be formed. In how many

ways can this be done when the committee consists of :
(i)  All Indians

(ii)) At least 2 Japanese

(ii1)) At least 2 Indian and 2 Japanese

(iv) Not more than 2 Japanese

7 YRA & 4 STOrEl § 9 5 SARHE & Tw 9t o9 B 98 fohan g 9 oA
S Hehdl ©, Selieh Frafa H

() W WeH 9™ @ R
(i) HE-Y-HF 2 ST &
(iii) wFE-Y-FF 2 YRAA 9 2 AT &
(v) 2 S § saen | 8
4. What do you mean by Sampling ? Explain the essentials of a good sampling.
e & st o SifyyE ¥ 2 U SO fe ) fawiwanstt @1 9o wifsw
BR-698 ( 3 ) CPF-2267 PTO.



5.  The following table gives the age composition of graduate students of a medical

college. Calculate the missing figure :

et awolt # forelt Afeshat Terfoamera & was faenfe=i &1 39 &1 0 <f g8 ¢ o=
3T W IUAT HIT

Age in Years No. of Students
18-20 18
20-22 25
22-24 33
24-26 ?
26-28 56
28-30 53

6. What do you mean by Short Time Oscillations ? In this context, explain regular

and irregular fluctuations.

STCTRTAN SeAE= W 3T 941 THerd © 2 39 9o ° fafaa @ sttrafya Ssamesm =t
ST |

7. From the following data, compute the two line of regression :
N = 450, X=40, Y=48, o,=12, 6, =16,
Sum of the products of deviations of marks from their respective means = 42075.
Also, estimate the value of Y when X = 50.
= ¥9&i 9 I JAwEE Tensd &t o SIS
N = 450, X=40, Y=48, o, =12, 6, =16
e § fage & UFEA # AF (EXY) = 420751
Ifg X =50 &, @Y # AA o g RS
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8. Compute the coefficient of correlation of short time oscillations from the
following indexes ignoring decimals :
Frefafed Yol 9 SIHad odi &1 SISd gU STeThle IRadl  H8-9wY T[uIeh
@ HINY
Year Imports Exports
2011 85 142
2012 88 152
2013 92 139
2014 102 142
2015 94 131
2016 86 136
2017 81 141
2018 78 128
2019 89 130
Take Three Yearly Moving Average.
T Tt = Jed effteg |
Section—-C
(TUe-9)
9.  What is meant by Correlation ? Discuss its significance in statistical analysis.

Does it always signify cause and effect relationship between two variables ?

Tg-HaY ¥ 1 qcqd ¥ 7 At favaon H# sHe Hewe 9aist | 1 98 & =) el

Y Heg HNU-YNOMH &Y hi FeR hidl § 7
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10. The production of steel by a firm from 2012 to 2020 is given below :

Year Production (in Tonnes)
2012 4
2013 5
2014 5
2015 6
2016 7
2017 8
2018 9
2019 8
2020 10

Calculate the trend value for the above series by the following two methods :

(1) 3 yearly moving Average

(ii)) Linear Trend

= Tw wH g 2012 § 2020 9% € IARA & dwe T3 W™ ¥

EL] IAEA (27 #)
2012 4
2013 5
2014 )
2015 6
2016 7
2017 8
2018 9
2019 8
2020 10
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S sfidel & fau f= < faftd g swafa 9o 9@ wifse

() 3 asig = "

(i) A" = Gfa

11. What is Interpolation ? What are the assumptions underlying interpolation ?

How does it differ from extrapolation and forecasting ?

SO 1 § 2 STITO | WM : 41 AIAad @t © 2 9% ST a9l qaiqHe

A forg gor = & 2

12. Construct the consumer price index number for the year 2022 on the basis of

2020 from the following data using (i) The Aggregate Expenditure method, and

(i) The Family Budget Method :

frefefen qedi & 2022 @ & ferg 2020 =6 =1 AR A gL ST Ho Fehish
(i) ¥ =a9 qfd @ (ii) wRaiw o AT 1 &M & T gL @R HiST

Quanti
v Price in Price in
Items Consumed in Units
2020 ) | 2022 )
2020
1. Food 3 Quintal Quintal 100 110
2. Clothing 10 metres Meter 3 6
3. Fuel and Lighting 25 kg kg 2 2
4. House Rent 2 Rooms Room 50 75
5. Miscellaneous 2 Units Unit 2 3
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